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SECTION A — (10 x 2 = 20 marks)

Answer any TEN questions, each in 30 words.

How are hydrides classified? Give one example for
each.

mapLey@adr ereueumm  euaslL(SsLIUBEETDET?
geuCeuraih@ @@ 2-smrartid Csr(.

Mention any two uses of LiAlH, .

LiAlH, -en gCaaniib @rem(d uiwenganers GolLn@Hs.

What are silicones? Mention any one use.

A CaTenEaT eTanLIGnal LTEnel? gCasaId @ LILeneTs

GOLbGs.

Carbon and silicon are always tetravalent but
Ge, Sn and Pb show divalency — Why?

arituen wHmd HAdssrar rLCUTPSID GamerTdpen
Bren@ oeLwemel peamme Ge, Sn wpmb  Pb
Qavamdpen @yamenL srerndssanmer — erem?

] Bse O€>j,\ - EQ i @

Acetylene is more acidic than ethane — Why?
Sl peller mEComar oL fs Bewssamenn
o L wig — Ggen? |

Compute the following reaction :

Acetylene + Hydrogen cyanide un C1C1 a

770°C
SpssamL elamearawls Ligs Cels :
. cucl

SI8)L_1q 656 + en@aDL_Fer swanarh ————>
- — . 770°C

SECTION B — (5 x 5 = 25 marks)

Answer any FIVE questions, each in 200 words.

How is lithium extracted from its ore?
NGHwWD DIB6
WRsQzsR&sLILGE DS ?

srgicilelppg  ereueungy
How are the following prepared?

(a) Boron nitride

(b) Borazine

Spararuene ereueurm swrflésiu@Hemmen?

(<=1) Cumyrér epLlg.emr(H

(<=4) GuirgenSien
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gS0, is more soluble in water than BaSO, -
hy?
gS0,, BaSO, -g & gfler wifawns samrdng —
&n?

hat is inversion temperature?
ene&ip QeuliLiLh eTemig) eTetan?

alculate the critical temperature of a vander
aals gas for which P, is 100 atm and b is

Ocm®mol .

P.= 100 atm wpmd b = 50cm’mol”’ &
méEE0LCGurg, GeuenmLieurdev eumyeder S

alliflereverwis sarss (hs.

hat are liquid crystals?

TéU LIiq SRIGET GTETLIGNE WITeneu ?

Distinguish between surface tension and viscosity.
dpuy  @eeles  wHmb  urdlwed  geaTawmW
CaimuBsgis. .

How will you distinguish between cyclohexane
nd cyclohexene?

[

quanemGansCean LOHMD cuamenGansFanar ereueumm)
Ceumu@sgieumi?
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Derive the equations for critical pressure, critical
emperature and critical volume from Vander
aal’s equation.

ot

TG eumTebey FOGTUITL g dlBhgl, S (PSS,
Lo Qeudud,  Hir  Gsnererereysenddflu
warumHEener eu(medl.

xplain Joule - Thomson effect.

%d%-m:_..om&q cllenerencu elemd@;s.

IDerive Bragg’s equation.

grédlen #wemum_anL auhed.

Describe the conformation of cyclohexane.

quanem QensGaaflen cugauenolientt edleurl.

(a) Explain Diels Alder reaction

(b) Explain the types of polymerisation with
_ examples.

_nnmi miuSevan LT elaaten efleTé@s.

(21) veUGULITSESED aflenerrull e UM EHENET

2_GTIERTIEISHEHL 60 66T d @

| |
_ SECTION C — (3 x 10 = 30 marks)
.Ewwimw any THREE questions, each in 500 words.

20. ?mv Explain the biological importance of Group I
| metals.
'(b) How are the following prepared?
_ @ KClO, @) CaH,
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QsrEdH I e Gorsmisafler 2 Wi flwed
wpéfusgasms dlasgs.

Spésam_emai ereucungy swrflésiiuiGdemen?

G KCIO, .

(i) CaH, : 24.

Compare carbon with silicon.

How is aluminium extracted from its ore?
snituamer fallsaCamm( @uSHS.

s@feflun ger’ srmel@mHg ereueummy
9N5QsBEsLLOHDS.

(@) Describe Maxwell's distribution of molecular
A velocities of gases.

(b) Discuss the principle of corresponding states

of gases.

(1) awmy sdUBHLIar Cuéav@eudaier Liwmer

| An@v aumy&aetier
-ssglaismp eflaurd). |

“apessmm Cousmisamar efeurl.

@58 maden Bewsafien

(@ What is parachor? How is it calculated?
(b) Describe the crystal structure of CsCl and

ZnS.
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(o) Gupsrt eemug aa@?  oF  eTeueun
sansdHssLIL@E D ?

(&) CsCl wppd ZnS gduapder ugs
SiewliLgener edleurl.

(a) Give a brief account on Baeyer’s strain theory.

(b) Explain the’ of dimethyl
cyclohexane.

conformation
(=) Cuwllen gpés Ganerens LHM GHLIY er(Wes.

(<) eLiBenged eflepers QansGrafen auseuaLslianL
efleré@e

6 50329/SAD2C




